Transformations
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9  You are given the matrix M= (82 _gg)
(i) Calculate M2. [1]
You are now given that the matrix M represents a reflection in a line through the origin.
(ii) Explain how your answer to part (i) relates to this information. [1]

(ili) By investigating the invariant points of the reflection, find the equation of the mirror line.

(3]

0.8 -—0.6). 2]

(iv) Describe fully the transformation represented by the matrix P = (0 6 08

(v) Acomposite transformation is formed by the transformation represented by P followed by the
transformation represented by M. Find the single matrix that represents this composite
transformation. , (2]

(vi) The composite transformation described in part (v) is equivalent to a single reflection. What
is the equation of the mirror line of this reflection? [1]
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